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Confidence Interval Estimation
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Hypothesis Testing
Test statistics
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Lower tail P(Z < z) P(T, <t)
Upper tail P(Z > z) P(T, > t)
2-tailed 2P(Z > |z]) 2P(T, > [t

Sample correlation coefficient

=J% where Sxx = Y(x — x)?
Syy =Xy —y)?and Sxy = L(x — ) (y — ¥)
y = Bo+Bix
here B = 2 & Fy=7 - Fix
wnere 'Bl_Sxx Bo =y — 1%

Simple Linear Regression
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SSR = ESxy & SSE = SST — SSR
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Multlple Linear Regression
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Test statistic : F = 2%
MSE

Inferences for individual parameters:

Similar to Simple Linear Regression

Inferences for a subset of the parameters:
[SSR(Full) — SSR(Reduced)]

number of parameters tested

MSE (Full)

Partial F =




